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Attempt any five questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Define screw thread and right hand thread.

As per 1.S.1., write thread designation for M10 X 1.25, 69 X 75.
Classify bearings.

Write two basic differences between axle and shaft.

Enlist any four power tools.

Prime mover is a source of mechanical energy. Why?

Draw schematic diagram of steam engine.

State working principle of air compressor.

I.C.Engine is called heat energy based prime mover. Why?
How impulse turbine converts kinetic energy of water in to mechanical work?

According to arrangement of belt, driver shaft and driven shaft, state types of

flat belt drive. Also explain the crossed belt drive with sketch.

List all types of gear train and explain compound gear train with sketch.
OR

Define slip. State various methods for reducing slip.

Define following terms.

i) speed ratio ii) creep of belt iii) power transmission drive iv) chain

OR

State points for tool safety in shop.

List all equipments used in oxy-acetylene gas welding and show importance
of pressure regulator.
OR
Write and explain step by step procedure for gas welding.
Explain working principle of arc welding with neat sketch.
OR
Compare welding with brazing and soldering.
Write short note on gas cutting.

Explain working of four stroke diesel engine with neat sketch.

Explain function of connecting rod and crank shaft of an I.C.Engine.
OR

Differentiate spark ignition engine with compression ignition engine.

Define following terms.

i) laminar flow ii) viscosity iii) vapor pressure iv) specific weight
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(@)
(a)

Explain working of single acting reciprocating pump with line diagram.

OR

Explain working of Francis turbine with neat sketch.
(b)  Answer any two.

1. Define material handling. Classify material handling equipments.
2. Select suitable material handling equipment for following situation

i) For loading heavy components in multi floor building

ii) To prepare concrete mixture

iii) To transport coal as burning fuel in power station

iv) For handling machine parts, structure parts, building blocks etc.
3. Write selection criteria for crane.
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